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uksV % izR;sd bdkbZ ls ,d iz’u gy djrs gq,] dqy ik¡p iz’uksa ds mŸkj
nhft,A ,d iz’u ds lHkh Hkkxksa ds mŸkj ,d gh LFkku ij nhft,A
mŸkj laf{kIr esa ,oa lgh <ax ls fyf[k,A izR;sd iz’u ds lEeq[k
vad n’kkZ;s x;s gSaA
Attempt five questions in all, selecting one question from
each unit. All parts at a question should be answered in
one place only. Your answer should be precise and to the
point. Marks are shown against each question.

bdkbZ&1
(UNIT—1)

1- ¼v½ vuqukn gksrk gS] tc % 1

(i)  &bysDVªkWuksa dk foLFkkuhdj.k gksrk gS

(ii)  &bysDVªkWuksa dk foLFkkuhdj.k gksrk gS

(iii)  &o  &bysDVªkWuksa dk foLFkkuhdj.k gksrk gS

(iv) mi;qZDr esa ls dksbZ ugha
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Resonance occurs, when :

(i) due to  -electron displacement

(ii) due to  -electron displacement

(iii) due to  -&  electron displacement

(iv) None of the above

¼c½ vuqukn rFkk pyko;ork esa vUrj Li”V dhft,A 2

Explain the difference between resonance and
toutomerism.

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4

(i) bysDVªksfQfyd ,oa U;qfDyvksfQfyd vfHksdeZd

(ii) lajpuk ,oa LFkkf;Ro ¼dkcksZdsVk;u dk½

Write short notes on the following :

(i) Electrophilic and Nucleophilic reagent

(ii) Structure and Stability of carbocation

vFkok
(Or)

¼v½ leka’k cU/k fo[k.Mu ls cusxk % 1

(i) dkcZ_.kk;u

(ii) dkcZ/kuk;u

(iii) eqDr eqyd

(iv) dkcZ_.kk;u ,oa dkcZ/kuk;u

On homolytic bond cleavage which one is formed ?

(i) Carbanion

(ii) Carbcation

(iii) Free radical

(iv) Carbanion and carbcation
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¼c½ eqDr ewydksa esa LFkkf;Ro dk Øe 3 2 1     D;ksa gksrk gS \

2

Why is order of stability of free radical 3 2 1     ?

¼l½ fuEufyf[kr dks le>kb, % 4

(i) ,sfuyhu] veksfu;k ls de {kkjh; gSA

(ii) QkWfeZd vEy] ,slhfVd vEy dh rqyuk esa izcy gksrk gSA

Explain the following :

(i) Aniline is less basic than ammonia.

(ii) Formic acid is strong than acetic acid.

bdkbZ&2

(UNIT—2)

2- ¼v½  D  Xywdksl ,oa  D  eSuksl gSa % 1

(i) izfrfcEc:i

(ii) ,ihej

(iii) ,uksej

(iv) mi;qDr esa ls dksbZ ugha

D (+) Glucose and D (+) Mannose are :

(i) Enantiomers

(ii) Epimers

(iii) Anomer

(iv) None of the above
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¼c½ le i{k  vkSj foi{k leko;ork dks le>kb,A 2

Explain cis and trans isomerism.

¼l½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 4

(i) vuqØe fu;e

(ii) lefefr ds rRo

Write notes on the following :

(i) Sequence rule

(ii) Elements of symemtry

vFkok
(Or)

¼v½ os izdkf’kd leko;oh tks ,d&nwljs ds lkFk oLrq vkSj blds
niZ.k izfrfcEc :i esa lEcfU/kr ugha gS] dgykrs gSa % 1

(i) izfrfcEc :i

(ii) MkbLVhfj;ksvkblksej

(iii) ,ihej

(iv) mi;qZDr esa ls dksbZ ugha

The optical isomers of compound and its mirror which

are not related to each other are called :

(i) Enantiomer

(ii) Diastereoisomer

(iii) Epimer

(iv) None of the above
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¼c½ izdkf’kd leko;ork D;k gS \ mnkgj.k lfgr le>kb,A 2

What is Optical Isomerism ? Explain with example.

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4

(i) vizfrfcEc f=foe leko;oh

(ii) D o L ukedj.k

Write short notes on the following :

(i) Diastereoisomer

(ii) D and L nomenclature

bdkbZ&3

(UNIT—3)

3- ¼v½ cs;j ruko fl)kUr ds vuqlkj fuEufyf[kr esa ls dkSu lcls

de LFkk;h gS \ 1

(i) lkbDyksizksisu

(ii) lkbDyksC;wVsu

(iii) lkbDyksis.Vsu

(iv) lkbDyksgSDlsu

Which are of the following is least stable according to

Baeyer’s strain theory ?

(i) Cyclopropane

(ii) Cyclobutane

(iii) Cyclopentane

(iv) Cyclohexane

¼c½ lkbDyks,sYdsu cukus dh nks fof/k;k¡ fyf[k,A 2

Write two methods for preparation of cycloalkane.
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¼l½ fuEufyf[kr dks le>kb, % 4

(i) csathu dk dSdqys lw=

(ii) uS¶Fksyhu esa bysDVªksfQfyd foLFkkiu

Explain the following :

(i) Kekule structure of Benzene

(ii) Electrophilic substitution in naphthalene

vFkok

(Or)

¼v½ fuEufyf[kr esa ls ,sjkseSfVd ;kSfxd gS % 1

Which are is aromatic in the following :

¼c½ cs;j ruko fl)kUr dh dfe;k¡ fyf[k,A 2

Write the limitations of Baeyer’s strain theory.
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¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4

(i) cukuk ¼dsyk½ cU/k

(ii) gdy fu;e

Write short notes on the following :

(i) Banana Bond

(ii) Huckel Law

bdkbZ&4

(UNIT—4)

4- ¼v½ ,Ydhu ij ty;kstu dh fØ;kfof/k le>kb,A 2

Explain the addition of water on alkenes.

¼c½ C;qVkMkbZu esa 1] 2&vkSj 1] 4&;ksxkRed ;kSfxd D;ksa curs gSa \ 2

Why 1, 2, and 1, 4 addition compounds are formed in

butadiene ?

¼l½ ,sYdkbu esa ukfHkdLusgh ;ksx dh fØ;k&fof/k fyf[k,A 2

Write mechanism of nucleophilic addition on alkynes.

vFkok

(Or)

¼v½ EkkdksZuhdkWQ fu;e dks mnkgj.k lfgr fyf[k,A 2

Write the Markovnikov’s rule with example.

¼c½ MhYl&,sYMj vfHkfØ;k ij laf{kIr fVIi.kh fyf[k,A 2

Write short notes on Diels Alder reaction.

¼l½ D;k gksrk gS tc ,slhfVyhu dh HOCl ls fØ;k djkbZ tkrh

gS \ 2

What happens when acetylene reacts with HOCl ?
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bdkbZ&5
(UNIT—5)

5- ¼v½ ,sfYdy gSykbM esa f}v.kqd SN2 fd;k mnkgj.k lfgr
le>kb,A 2
Explain the bimolecular SN2 reaction in alkyl halide.

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4
(i) gSyksQkWeZ vfHkfØ;k
(ii) oqVZ~t&fQfVx vfHkfØ;k

Write short notes on the following :

(i) Haloform reaction

(ii) Wurtz-Fittig reaction

vFkok
(Or)

¼v½ foyksiu vfHkfØ;k dh fØ;kfof/k mnkgj.k lfgr le>kb,A 2
Explain the mechanism of elimination reaction with
example.

¼c½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4
(i) dkfcZy,sehu vfHkfØ;k
(ii) csathu gsDlkDyksjkbM
Write short notes on the following :

(i) Carbylamine reaction

(ii) Benzene hexachloride
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